Mathematics
Arithmetic: Test 2a

Year 4
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Key Stage 2: Year 4: arithmetic test 2a

1 | 572+ 100 =
2 | 317-200 =
3 | 39x6-=
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5 4920 - 1000 =

6 | 2776 + 4619 =
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7 12x7 =

8 | 826x3=
5 1T _
91 %%~
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10 | 3.76 + 0.08 =

11 | 29+ 10=

12 | 47 +287 =
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Answer Sheet: Key Stage 2: Year 4: arithmetic test 2a

ar

Guidance: Children will have 15 minutes for this test.

question answer marks
1 672
2 nz
3 234
4 % or %
5 3920
6 7395
7 84
8 2478
9 % or %
10 3.84
11 29
12 71.57

Total 12

©twinkl.co.uk. You may photocopy this page.

o



